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1. 0000000000000000

(1) y=sinz
000y =cosz 000 ¢y =—sinz Op
(2) y=(3z—4)°
000y =538z —4)51 (32 —4) =53z — 4)* -3 = 15(3z — 4)*
000 ¢ =15-43z —4)* 1. (32 —4) =603z — 4)3 -3 =180(3z —4)30

2. 000000n000000000

(1) y=e*
000y =e3 . (3x) =e3% -3 = 3e3*
00 y"=3-e*-(3x) =33 .3 =3%
00 y" =323 (3x) =3%.¢37 .3 =333
00y =33.e3. (3z) =33.¢3* .3 =34

00 y™ =30y
(2) y=2"000000,00000000
00 10y =na™ !
00y =n-(n—1)z0"D" = n(n—1)z"2
00 " =n(n—1) (n—2)a"2"1 =n(n - 1)(n - 2)a"
00 y@ =nn—1)(n—2)- (n— 3™~ = n(n—1)(n—2)(n - 3)a""*

00 20y =na™ ' =, Pya™!

00 ¢ =n(n—1)a""2 =, Pan2

00 y"” =n(n—1)(n - 2)a"5 =, Pya"~?

00 y® =n(n—1)(n—2)(n —3)a"* =, P4

0d y™ =,Pa" " =nl-20=nl-1=nlg

0030n=1000 y=200y =1=1!

00 n=2000y=2’00y =2200y"=2=2-1=2!
O00n=3000y=2%00¢y =32200%y"=3-2200y"=3-2-1=3!

00 y™ =nl0g



0ooogIcoogooog 00000 0000 00000 (Ne4)ODODODOD2

3. U0 y=2e"0000000O00O0OOOODODOONO
000y =(x) -e*+x-(e*) =1-e"+x-e*=(1+x)e*
=(1+4z) e+ (1+z) (") =1-e"+(1+2a) " =(2+x)e"
"=0000 2+2)e* =000 2= -2
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